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DEHEFE(FELS) ERAIBER
[BERE] (B 0 FF)
®- B ﬁ;g;’ WIS ﬁ;ﬁﬁ@ AR
ERERE 40,158,277 0| 40,158,277
NEEERE 6,942 0 6,942
=R 34,044,256 0| 34,044,256
ST 973,079 0| 973,079
ERMERE 4,081,572 0| 4,081,572
BEr o 1,038,235 0| 1,038,235
BRRCERESE 14,193 0 14,193
EREBE 4,989,794 27,109| 5,016,903
— LR EB S 347,665 0| 347,665
IEE=t 981,834|  27,109| 1,008,943 Eiﬁ;ﬁ;{;ﬁgzﬁﬁﬁg%“ VAR (+19,439)
BRRTERRED E N EEER (+7,670)
R—4F 4 v FIREIC & BIE R
B 427,030 o 427,030
BRAMRERE | 3,233,265 0| 3,233,265
EREAH 45,148,071 27,109| 45,175,180




